[ Efficiency vs vertpos |

etticiency vs vert r

Ratio

Efficiend

efticiency vs vert z

Ratio

0.8

0.7
0.6
0.5f
0.4F
0.3

0.2

0.IF -

8 R R —

c i + 1
Y| SR R EEIPEY. . A R
I 4
- CE A - EXEEEEREREEER]
1- T+
1 +
0.95

1072

10 1 10 0?
TP vertr (cr%)

—=— DQM_mKFit_TT_base
—e— DQM_mKFit_TT_retrain_noCandDNN
—+— DQM_mKFit_TT_retrain

1.2

0.8 ?
0.6f -
0.4F -
0.2 ;

b

o
T

P 444 45-------

0.95!

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

efficiency vs Sim. PV z

Ratio

0.8

0.6

0.4

O e

0.5F -+
0.3
0.2f -

0.0

D
TTT T T

=
T
i

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


